S5 0o

OO00o00oo0ob0ob00 10em 00 1em0OD00O 3 GHz OO 30 GHz
gbobggbobobbodbbobooboobbooboboobbuoobo
gboggbobtuoob embOuboobbooboooboobbogbn
gbgboooboobbuoobbodbbuoobbooooboouonbo
gbogbobodbogbboogboobbooboobbooboonbn
gbobboobboobboobobbboobboboobboobobon
gbobboooobbbuooobbbooooboo

1 00O

1.1 OOOooond

gboogboobobobobo 4b00bouodbooobboobbooboob
gbobbooogbbbuooobobbboodobbbuoooobboooan
gbboggbogobuogboobobbooboboooboobobuoobn
gbogboboobooobuoobobuoobboobobboobboabb
gbogobuogbbodbobuogbboobooodgbooobooonon
gbobboooobbbdag si1buooobbbuooobbbod

gsl:0bbooggoboboooon

gbbodbooobuooboobobuoobbuoobbuoooouobbab
00000000000 (0 3x10®m/s) 00000000000O0O0O0
000000000000 »00000000000000 n=c¢/v000
obobooboo b0 v ANODOODODOODbOobOobDOOD
gbobboooobbobbooogn

gboogoobd 2000o0gbbogboobogbbbooobobooob
gbooboboobomobooboobooobobboobooboon



gobbobooogbbboooobog s2u00uboboo

0y = 6 (5.1)

TL()SiIligg = nlsinﬁl (52)

0000000
0000000000000000
00000000000000000 a
O n>nm00000000000 6

000000 520 sing, 0 1000 0
0000000006, 0000000
00000000000000000 n,
00000000000000000

0000 », 00000000000 1
0000000

0 5.2: Snell OO O
1.2 JO00oooboogd

gboogbboobuodgboobboobuouoobboobuooboonbb
gobboooobbbooooboboooobobbuoooobbboooon
gbogobobbogbuogbbuodoboboobuoobobuoobbouabn
gbobobooogbbobuoooobobboooon

O00000D00O0nDO0 GaAsOOODOODOOODOOOOO GunnO
O00000000D0O0O0ObO0b000b0ODbODO0OD0O0bDnO GaAsO OO
O0000000000003kV/emOOODODOO0DO0O0O0O000O000O0OOO
gbobgogobogbbogbbuoobbuoobonooooboonobn
gbbogdbogobuoouoobobuooboobuobbuoobboobbab
gbogoobbogbogobuoobboobooobbooobooonon
gbobobooogboo

guoboobobodobgn

0000000000000 #
00000000000000 - B Ef’g
00000000000000 = 3 > 4
0000000000000 |\l x |
0000000000000 ] wb
0000000000000 \ , |
000 —
0000000000000 rw“
00000000000000 I -

godbobgbobogbd
gobboooboooboga
gbobobobobobobd

gs3: 00000000



gbboggbuogboobboobbooboobbuoooobbogbogn
gbogobuogbbodgbobogbboobuooobuooboooonon
gbobboooobbbuooobbboodoobbogo

2 00

21 00O0boooooon

O000b0b00 ooooboooobo Xooob3semOOOoooooOO
gbobbodbodboobobbdobuodgboobobodgbgan
(Continuous Wave: CW O )0 1kHz OO DODOOOOOO 200000
gbobodbodgboobobodbodgbobobobodabgan
gbgobobbobbobooboobn

e 100:0000D00ODDODOO (LD4326)

e UOOO 8VOOODOO 12 VO

e IODOD0 150 mAOODODODO 150 mADO

e IOODODO 10.4010.6 GHz
gbobobobboobodbuodobod ggbouoobobboboobooan

gbbbuooobbbdooobbbuooobbbuooobbbooon
OO00O0DO0obOobo0ooognD iIN23CcOb00ooogn

gobobooobooboooobbouoooobobooonobobooon
gbobobooogn

00000 OO0 s0dBOO 200000000000 oO100ADDOODO
goboboooboobooooboooooboboooobobooon
gbobbooobbbuoogbbbuooobbbooobbbuooan
goboboood

100 kA ODO0O ODOOOOODOOOO0OODODOODOODODObOOODOODO
gboboboooobbbuoooobbbuoooobbbuoooobn

gobooboooggn
gobobooogn
goboboooogn

gbobobooogobb obbobuooobbbuoooobobbuooobbb
goboboooobbbuoooboboboooobooo



22 0000

gbbguogoubooogbobooobooobon sot40em 0o
gbobogobobbooboobouoobbuodobbooboobbuoobb
gbogobuogbbbogobuogbboobooobuoobboooon
gbbogbogobuoobbuoobboobboobbobooobobbuoobb
gbgbbodobbuodbbuobbbuoobboobboooobbuoobo
gobbooooobod

gboobobougboobobogbuooboboboobooboobon
gbbogobuogboodgbooobuoouobboobbooboouabb
0000000000 70080 % 0000000000000 0O0O0O0O0O0ODO
gbogbobodbogobbogbuoobboobboobbooboobb
gboboboooobbbuoooobbboooobboboooobo

gbboodbobbodobbobboobboobbodobbooboab
gbogboogboobobboboobooboobooboobog 221
02240000000000000000000O0000O0O0ODOODOODO
goboboooooboboood

221 000OO0OOOOOO

Us1000b0bbobbobouoooooobbbobD . 0000boob
gbobooobd . 00000b0b0obooboobobbobgon 300
A0em 00000000000 0O0O0O0O 2y 000 2z 0000000000
guoboodbboodgbbuoobbuoooboodobboobbaoboodn
gobboooobbbuoooobboooonbod

gboboubobobdobdbidxyuboboboboobouobobobobn
rz:O0UOOOO0OO0ODOODO0O0O0ObOO0bOO0ob0obo0oobobogono
gbgbobooobobon
gbobobuoogbboboogn

gooobobo3gooban
gbgboboodgbobddan
gbobobooogbbood

222 QJ00O00OOOO

0540000000000
000000030040 em O O
N0000000000000
0000000000000
N0000000000000
Noooo00000o0ooon
000000000 00000 0540000000



223 0000O0OOOOOO

obogboodb 40050 em 0000 oobobooobOo0obOo0obOon

gdoboooboooboboobobbooboboooobobooboon
gbbooobbboobbooobbbooobobooobbooobn
goo

224 0000O0DOOOOO

gobogboobooboo
gboboboboboodao
gooooo s5000uan
gogobooooboboobboo
guooggobbooooboooo
gbooboobooooooo
g22100000004000
guboggobboaoboooo
oo
gbod:0ogboobooo
gboboboboboodo
gbogbobogbgoodab oo
gboguoooooogogo
gooo

g b5 0uogobobooobbuogon

225 00b0O0OOO0O0bDOOO0O0

U s60bbbbooouuobbobooouuobbbioooogg eod
Sem UUODOOOODOODOODLOOODODOODLOODLOODLOODLOOnDD
gbbobobodbuodgoobodgboboobuooboobbboobbo
gobbuooobbuoobbooobbooobbooobo

] <a

O b56: 0000000000

0000000000000 00OD0000O 1/200000000000
obobooobobo axOboboobobooboboo100b0boon
gbobooob v0gbbogobbooobbooobboobbbodad

googbobogboobobbodboo 3em0boonobooboon



gbboodb 203 mm 000000000 ogbuooobobooobn
gbogobuogbobbogboobobuooobobuoobbooboonon
goboboogo

226 0O0O0OO0OOOOO

gobooguoboooboon
ooooooo s5700gg
goobgogobogooban
OoDoooD 20em 0000
gobooboobooobn
0 30040 ecm OO OOD0ODO0O
gogooogogoobgan
gobooogbogoboban
gbbooggbbooogn
OOoOooOOoobOobD 00D
obooobobogoo222000
goboubobogbdoooon gs70000oobooogon
gooooogbooboboan
godboobobogobgan
4000000000000
gooo

227 000O00DOOODOO

guoodgo ssubogan
ooooooooooooon
OeoO000OOOOODODOO
uboboooooboobooooon
gooooooboooooooon
odoooooboooooon
bbbt ~40b0b0aoooog
oo 1g0o0oooooooon
0000000000y ++" =
r/4000000000000 U s8: 00dbouooaod
uoodm

gs2b000bdbodnouobaboobogd

14

sin (r/4) = mnsiny (5.3)
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